




KIT    NRO    JEL    SAD    DFS     CVB

What will come in place of question mark (?) in the 
following series?
निम्िलिखित श्रृंििा में प्रश्ि चिह्ि (?) के स्थाि पर क्या 
आएगा? 

RN,   EJ,   AS,   FD,   ?

a) KT 
b) IN 
c) VC 
d) BV 
e) None of these



KIT    NRO    JEL    SAD    DFS     CVB

If all the letters in each of the words are arranged 
alphabetically (within the word), how many words 
will not be changed? 
यदि प्रत्येक शब्ि के सभी अक्षरों को वर्ाािुक्रम में (शब्ि के 
भीतर) व्यवस्स्थत ककया जाता है, तो ककतिे शब्ि अपररवनतात 
रहेंगे?

a) All 
b) Three 
c) One 
d) Two 
e) More than three



KIT    NRO    JEL    SAD    DFS     CVB

If the letters of all the words are arranged in 
alphabetical order with in the word, how many will 
form meaningful English words?
यदि सभी शब्िों के अक्षरों को शब्ि के साथ वर्ाािुक्रम में 
व्यवस्स्थत ककया जाता है, तो ककतिे साथाक अृंगे्रजी शब्ि 
बिेंगे? 

a) None 
b) Three 
c) One 
d) Two 
e) More than three



KIT    NRO    JEL    SAD    DFS     CVB

If the positions of the first and third letters of all the 
words are interchanged, then arranged the words in 
descending order according to English alphabetical 
series. Which word would be third from the right 
end? 
यदि सभी शब्िों के पहिे और तीसरे अक्षर परस्पर बिि दिए 
जाए, तत्पश्िात अृंगे्रजी वर्ामािा श्रृंििा के अिुसार शब्िों 
को अवरोही क्रम में व्यवस्स्थत ककया जाता है। िायें छोर से 
कौि-सा शब्ि तीसरा होगा?

a) JEL 
b) NRO 
c) KIT 
d) CVB 
e) DFS



KIT    NRO    JEL    SAD    DFS     CVB

If the second letter of all the words is changed to its 
next letter in the English alphabetical series, then 
how many words will have vowel? (Same or different 
vowel)
यदि सभी शब्िों के िसूरे अक्षर को अृंगे्रजी वर्ामािा श्रृंििा 
में उसके अगिे अक्षर में बिि दिया जाता है, तो ककतिे 
शब्िों में स्वर होगा? (वही या अिग स्वर) 

a) None 
b) Three 
c) Two 
d) More than three 
e) One



A certain number of people are sitting in a row facing North. 

C sits at one of the ends and there are two people between 

C and B. There are as many people to the right of G as there 

are to the left of G. F is third to the left of B who sits fourth 

from one of the extreme ends of the row.  A sits at one of the 

extreme ends of the row. F does not sit at any of the extreme 

ends of the row. There are five persons sitting between A and 

D. E sits exactly in the middle of A and D. Two persons sit 

between D and G. There are as many persons sitting between 

F and C as many are sitting between F and D. 
एक पृंस्क्त में एक निस्श्ित सृंख्या में व्यस्क्त उत्तर की ओर उन्मुि 
होकर बैठे हैं। C एक छोर पर बैठा है और C और B के बीि िो िोग 
हैं। G के िाईं ओर उतिे ही िोग हैं स्जतिे G के बाईं ओर हैं। F, B के 
बाएृं से तीसरे स्थाि पर है जो ककसी एक से िौथे स्थाि पर बैठा है। 
पृंस्क्त के अृंनतम छोर। A पृंस्क्त के ककसी एक अृंनतम छोर पर बैठा है। 
F पृंस्क्त के ककसी भी अृंनतम छोर पर िहीृं बैठा है। A और D के बीि 
पाृंि व्यस्क्त बैठे हैं। E, A और D के ठीक मध्य में बैठा है। D और G 

के बीि िो व्यस्क्त बैठे हैं। F और C के बीि उतिे ही व्यस्क्त बैठे हैं 
स्जतिे F और D के बीि बैठे हैं।



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who is sitting third to the right of F?

(a) D

(b) C

(c) A

(d) B

(e) E



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who sits between F and D ?

(a) G

(b) E

(c) B

(d) F

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

How many persons sitting in a row?

(a) 20

(b) 19

(c) 23

(d) 14

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

Who among the following person sits sixth to the

right of G?

(a) F

(b) B

(c) D

(d) C

(e) None of these



A certain number of people are sitting in a row facing 

North. C sits at one of the ends and there are two people 

between C and B. There are as many people to the right 

of G as there are to the left of G. F is third to the left of B 

who sits fourth from one of the extreme ends of the row. 

A sits at one of the extreme ends of the row. F does not 

sit at any of the extreme ends of the row. There are five 

persons sitting between A and D. E sits exactly in the 

middle of A and D. Two persons sit between D and G. 

There are as many persons sitting between F and C as 

many are sitting between F and D. 

How many persons are sitting between D and C?

(a) 9

(b) 13

(c) 10

(d) 12

(e) 11



कथि :
सभी हैं।

कुछ हैं।
कोई िहीृं हैं।

निष्कर्ा :

कुछ के होिे की सृंभाविा है।

कुछ के होिे की सृंभाविा है।



कथि :
कुछ 2, 4 हैं।

कोई 4,7 िहीृं है।
कोई 7, 1 िहीृं है।

निष्कर्ा :

कोई 1, 2 िहीृं हैं।

कुछ 7 के 2 होिे की सृंभाविा है।



कथि :
कोई िहीृं हैं।
कोई िहीृं हैं।
कोई िहीृं हैं।

निष्कर्ा :

कुछ के होिे की सम्भाविा है।

कुछ िहीृं होिे की सम्भाविा िहीृं हैं।





नििेश- निम्िलिखित जािकारी का ध्यािपूवाक अध्ययि 
कीस्जये और िीिे दिए गए प्रश्िों के उत्तर िीस्जये।

आठ व्यस्क्तयों और का जन्म
ववलभन्ि वर्ों जैसे 1948, 1953, 1956, 1959, 1964, 
1966, 1972 और 1981 की समाि तारीि और समाि 
महीिों में हुआ था िेककि आवश्यक िहीृं इसी क्रम में हो। 
उिकी आयु की गर्िा वतामाि वर्ा 2020 पर आधाररत 
है। ववर्म सृंख्या वािे वर्ा में पैिा हुए व्यस्क्त और के 
ठीक पहिे पैिा हुए व्यस्क्त के बीि िो व्यस्क्तयों का 
जन्म हुआ था। से पहिे पैिा हुए व्यस्क्तयों की सृंख्या, 

के बाि पैिा हुए व्यस्क्तयों की सृंख्या के समाि है। 
और की आयु के बीि का अृंतर 5 है। और जो
सबसे छोटा िहीृं था, के बीि तीि व्यस्क्तयों का जन्म 
हुआ था। का जन्म एक ववर्म सृंख्या वािे वर्ा में िहीृं 
हुआ था और उसका जन्म के बाि हुआ था। का
जन्म के तुरृंत बाि िहीृं हुआ था।





में ककसका जन्म हुआ था





और की आयु के बीि का अृंतर क्या है



1) 1953
2) 1966
3) 1964
4) 1981



का जन्म ककस वर्ा में हुआ था?

1) 1953
2) 1966
3) 1964
4) 1981
5) 1972





और की आयु का योगफि क्या है

इिमें से कोई िहीृं



1) 



और के बीि में ककसका जन्म हुआ था?

1) 



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
बारह व्यक्ति N, L, M, O, S, T, U, V, A, B, C और D दो समानाांतर पांक्तियों में 
बैठे हैं। पांक्ति-1 पक्तिम के सम्मुख है और पांक्ति-2 पूर्व  के सम्मुख है। L, M, O, S, T 
और U पक्तिम के सम्मुख हैं। पांक्ति-1 का प्रत्येक व्यक्ति पांक्ति-2 के दूसरे व्यक्ति के 
सम्मुख है। V पांक्ति के एक छोर पर और C के बाएां दूसरे स्थान पर बैठा है। D और N 
के बीच दो व्यक्ति हैं। T और S के बीच केर्वल एक व्यक्ति है। U, M के दाएां तीसरे 
स्थान पर बैठा है और र्वह न तो V और न ही C के क्तर्वपरीत है। S और T, V के 
क्तर्वपरीत नहीं हैं। L और S एक दूसरे के बगल में हैं। N, A के बगल में नहीं है, जो T 
के क्तर्वपरीत नहीं है।



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
Who among the following sit at the extreme ends of row-2?
(1) O,V  
(2) V,B
(3) T,O
(4) N,D
(5) None of these



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
How many persons are there between S and O?
(1) One
(2) Two
(3) Three
(4) None
(5) None of these



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
Who among the following sits second to the right of N?
(1) M 
(2) V 
(4) A 
(3) D
(5) None of these



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
Who among the following is the opposite of M?
(1) C 
(2) D 
(4) N 
(5) None
(3) A



Twelve people N, L, M, O, S, T, U, V, A, B, C and D are sitting in 
two parallel rows. Row-1 is facing west and row-2 is facing east. L, 
M, O, S, T and U are facing towards west. Each person of row-1 is 
facing the other person of row-2. V sits at one of the ends of the row 
and second to the left of C. There are two persons between D and N. 
There is only one person between T and S. U sits third to the right of 
M and is neither opposite to V nor C. S and T are not opposite to V. 
L and S are adjacent to each other. N is not adjacent to A, who is not 
opposite to T.
Which of the following statements is/are true.
(1) S does not sit adjacent to L.
(2) D sits opposite the person who sits third to the left of L
(3)   C sits opposite L.
(4) N does not sit opposite the person who sits to the immediate 

right of L.
(5) None of these



In the following questions the symbols %, #, $, @ and ! are 
used with the following meanings:
A % B means A is greater than B.
A # B means A is greater than or equal to B.
A $ B means A is smaller than B.
A @ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements: 
C $ J; F $ D @ E; C # G % F
Conclusions: 
I. F $ J  
II. G % E
(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.



In the following questions the symbols %, #, $, @ and ! are 
used with the following meanings:
A % B means A is greater than B.
A # B means A is greater than or equal to B.
A $ B means A is smaller than B.
A @ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements: 
A % M; P @ S ! A; M $ K ! R
Conclusions: 
I. S % M  
II. P $ K
(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.



In the following questions the symbols %, #, $, @ and ! are 
used with the following meanings:
A % B means A is greater than B.
A # B means A is greater than or equal to B.
A $ B means A is smaller than B.
A @ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements: 
P % Q; T @ S; T % U ! P

Conclusions: 
I. S # U  
II. Q $ T
(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.



In the following questions the symbols %, #, $, @ and ! are 
used with the following meanings:
A % B means A is greater than B.
A # B means A is greater than or equal to B.
A $ B means A is smaller than B.
A @ B means A is smaller than or equal to B.
A ! B means A is equal to B.

Statements: 
V @ S; Q # P % V; S % T
Conclusions: 
I.  P % T 
II.  Q $ S
(1) If only conclusion I is true.
(2) If only conclusion II is true.
(3) If either conclusion I or II is true.
(4) If neither conclusion I nor II is true.
(5) If both conclusions I and II are true.



Six people P, Q, R, S, T and U are to be allotted a room in a 
hotel. There are six rooms numbered 311, 312, 313, 314, 315 
and 316 (from left to right) and one person is to be allotted 
one room. Moreover, P cannot be in the room immediately 
to the left or right of Q. R must be in a room immediately to 
the left of S’s room. U cannot be in room no. 316. P's room 
number is 315.
छह लोगों P, Q, R, S, T और U को एक होटल में एक कमरा आर्वांक्तटत 
क्तकया जाना है। छह कमरे हैं क्तजनकी सांख्या 311, 312, 313, 314, 315 
और 316 (बाएां से दाएां) है और एक व्यक्ति को एक कमरा आर्वांक्तटत क्तकया 
जाना है। इसके अलार्वा, P, Q के तुरांत बाएां या दाएां र्वाले कमरे में नहीं रह 
सकता। R को S के कमरे के तुरांत बाएां र्वाले कमरे में रहना चाक्तहए। U 
कमरा नांबर 316 में नहीं रह सकता। P का कमरा नांबर 315 है।



Six people P, Q, R, S, T and U are to be allotted a room in a 
hotel. There are six rooms numbered 311, 312, 313, 314, 315 
and 316 (from left to right) and one person is to be allotted 
one room. Moreover, P cannot be in the room immediately 
to the left or right of Q. R must be in a room immediately to 
the left of S’s room. U cannot be in room no. 316. P's room 
number is 315.
Except P, which of the following person's place is certain?
(1) R 
(2) Q 
(3) S
(4) T 
(5) U



Six people P, Q, R, S, T and U are to be allotted a room in a 
hotel. There are six rooms numbered 311, 312, 313, 314, 315 
and 316 (from left to right) and one person is to be allotted 
one room. Moreover, P cannot be in the room immediately 
to the left or right of Q. R must be in a room immediately to 
the left of S’s room. U cannot be in room no. 316. P's room 
number is 315.
If S is in room no. 313, then R should be in which room?
(1) 312 
(2) 311 
(3) 314
(4) 315 
(5) None of these



Six people P, Q, R, S, T and U are to be allotted a room in a 
hotel. There are six rooms numbered 311, 312, 313, 314, 315 
and 316 (from left to right) and one person is to be allotted 
one room. Moreover, P cannot be in the room immediately 
to the left or right of Q. R must be in a room immediately to 
the left of S’s room. U cannot be in room no. 316. P's room 
number is 315.
Who among the following cannot be in room no. 312?
(1) Q 
(2) P
(3) R
(4) S 
(5) U






